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QUESTION 1

In Report Studio, when would the author need to unlock cells on a report? 

A. To merge two report types into a single report. 

B. To merge query items into a single column. 

C. To merge a query item into a text item. 

D. To merge report objects in table. 

Correct Answer: B 

 

QUESTION 2

In Report Studio, based on the crosstab below, 

which of the following is true? 

A. Sales territory is a parent to Quantty and Revenue. 

B. Quantty and Revenue are a child to Gross Proft. 

C. Order method is a peer of Retailer type. Gross Proft is a child to all row and column headers. 

D. Sales territory is a peer of Order method. 

Correct Answer: A 

 

QUESTION 3

In Report Studio, what is true about a crosstab node? 

A. It contains at least one nested crosstab node. 

B. It contains at least one crosstab node member. 
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C. It contains more than one nested crosstab node. 

D. It can contain an empty crosstab node member. 

Correct Answer: B 

 

QUESTION 4

In Report Studio, when creatng a list report, what is the diference between creatng a secton and creatng a header? 

A. Headers appear outside the list. 

B. Sectons appear outside the list. 

C. Headers appear once at the top of the list. 

D. Sectons appear once at the top of the list. 

Correct Answer: B 

 

QUESTION 5

In the image below, 

the last column calculates the percentage that each Product type contributed to the overall revenue. What is the
calculaton in the last column? 

A. percentage ([Revenue]) 

B. percentage ([Revenue] for Product type) 

C. percentage ([Product type] for [Revenue]) 

D. percentage ([Product type]) 

Correct Answer: A 
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